‘ DATE ’
C’hzy')'cf Yo Homewsrk Ps2)S ’ L
le.nq p;vo+
&
T 1T - %
: L; rxp = 4+ 1.Y4m (31(3)('3"![5)!(,
T
=\3 m[s =3
Seamibel L= 3.6m Le = Teo + rxp
m= 3% - - 1
3 =Sis Le = )Teo ~. *-\m(quB(SMIQ ke
1 z ~
mg=2on —|| Le=[ 5 ML @, =1 (3kq) (k)
- =
a.: Angu‘av momentum 16 conserved =» Ly = L;
iL;) = 54.L ka-wm[s
$ QON
l Lﬁl = [ ‘3 Q. Gwl 2 (3“) 60 = I 4"(3"‘1)(5""5)7
lLs) = 2%.49 wo, - 21kg-ms
[L;] = Jre) =5 54.L = 24.49 w, - 2]
wg = 8B4, t+ 2] = 3,087 vadls
24.4 9
te = 3.087 rad)s
L-> The collision znd rebownd reqmre.s a2 force Yo keep
dc\c'k
the Pivat moYtionless — 2 force Yo the \e?’r.a) ﬁ(_‘:(a -
\r'ﬂowevu'7 +\'\§s -corce dces no's' ',Drav\&clc’ p=} +Ofct'M€;. ,)W
thus no  additionzl 8ﬁ3u)ar Momenfum Sue
+D ’H\a‘t €)d’erh1( ~fcrce




k DATE
Chapler 16 Homewor k

S L Topc
10.5)
m o = ©0.150 kg
oToT J
I = 1.20x10° " ks.mz
Mo me = 2:.70 x10 - kj
L = {rev = 2w _rad 5N = Tj o 4 "(M;_*‘mk)%
2.205s 2.205 L Teo
a) ZF, =0 —-(m,+m )c‘\! r Fyp =0
Fop (mg*-ma}q = (o,oz'{-+o \so)h_q (a. Smls)
\;Fq? = 1,335 N
) w = 4 __r(m. +mg)q
7 N 7 &
I o
LW = \ /2205\{.04.\,. /1?35’\’) 20245@
1.20% 10 uj m? \mrfad)

= 202.45 vad [ Arev \ /ggos\ =

S 1993 rev
Sec g;erA/ \ min miv

ko= 1033 ropw /

=—p




Ch_a\?i'er 10 Howmeworle Ps215

‘ DATE ‘
L Tonc |

10.53
0 = Ad = 1.20x%x10° deqerees /‘l‘t rad \ [ 1he \ = 9.696 W‘;‘vzgd
At (G hourg k‘eo deﬂms7 kaGoos) \ sec
Hi='\ T T=La =Tw) (
L \
F2 4 &
T= MR w Q = (2.00'1-3)(0-0'25M5 1.92%7/0 /rev\/era&\llmfm\_Q_

kmln}\ { rev /k (.OS/

T =

-12
2.43% x10 N:m g




